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This is the solid black line that slopes upward in Figure 6.10.7 You’ll remember from your 
middle school or high school classes that the equation for a line is

Y = mX + b.

The “m” is called the “coefficient” and indicates the slope of the line. A positive coefficient, 
m > 0, indicates that the line slopes upward to the right, suggesting that there is a positive 
relationship between X and Y. This is the scenario depicted in Figure 6.10. A negative 
coefficient, m < 0, indicates that the line slopes downward to the right, suggesting a negative 
relationship between X and Y. A zero coefficient, m = 0, indicates a horizontal line, suggest-
ing that there is no relationship between X and Y. As you can see, the sign of the coefficient 
gives us a sense of the relationship that exists between X and Y. The “b” is the “constant” and 
indicates the value of Y when X is 0; it is sometimes referred to as the intercept as this is the 
point where the line “intercepts” the vertical Y-axis.

The equation for the line shown in Figure 6.10 is Y = 1.05 X – 0.05. If we were to report 
the pattern shown in Figure 6.10 in a table of statistical results, it would look like that shown 

7. If you take a statistics class, you’ll learn the mathematics that goes into finding the line that best fits the data in examples 
like this.

A Scatterplot of Y against XFigure  6.10

Note: Each of the 100 circles shown in the scatterplot represents one of the (X, Y) pairs in our data set. The solid 
black line sloping upward is the line that “best fits” the data. The equation for the line is Y = 1.05 X – 0.05.
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Y = 1.05 X − 0.05


